Roll No:-
Sem-VI1 Diploma Exam 2024 (Even)
[Time: 3 Hours] (C.S.E) (Theory) [Full. Marks: 70]
System Software (1618602)
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Group (A) (a7 -v)

Q.1 Answer all questions as directed. (2x10=20) | Marks | CO | BL
(Fréemaem s+t ot & 3w )
a) ldentify the odd one out: 2 - 3
A) Compiler

B) Interpreter

C) Assembler

D) Linker

H ¥ A T IE=H:
T) FHT3eR

&ft) g

HY) STHaTeR

@) foiem

b) An interpreter is more memory efficient than a compiler. 2 - 2
(True/False)
T TTRIT T SHHTSeR st e i STfess Ft et 2t 2|
(GEASH)]

c) A translates an entire program from source to target language at once. 2 - 2
(Assembler/Compiler/Interpreter/Macro)

T T & SR |l ST A e 9T § STaried s 8
(TSI shuTE T/ g TTRIT/HshT )

d) Choose the odd one out: 2 - 3
A) Lexical analysis
B) Syntax tree
C) Code optimization
D) Macro expansion
T H SIS
©) mifsash fersgeor
aft) feidem 2
) FTe SgFe
<) Feht foram

e) (Fill in the blank) 2 - 2
is used to handle repetitive tasks in assembly language.
(Loader/Linker/Micro/Macro)
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h)
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Q.2

(feeh T =t oY)
T ITANT ST W7 T T S T HET bl U o fore fomarm St 21
(Siret/feiert/areshT/AseT)

Match the following terms to their correct descriptions:

A) Assembler 1) Real-time code translation

B) Compiler 2) Converts high-level language to machine code
C) Interpreter 3) Converts assembly language to machine code
D) Loader 4) Loads an executable to memory

Frfafad St st 37k W forawor @ e

T) SR 1) arfs 99 IS TS

oft) SFUTEeR 2) I=o TARIT TNT Y HE i H qiafdd T 8
&T) IR 3) STeferelt TSt il A Hig § uiEfdd sdr &
) drer 4) vk e @i v Aud § S A @

Which of the following is NOT a phase of a compiler?

(Lexical analysis/Syntax analysis/Execution/Code optimization)
Freafeaftad & & #1991 FHuTEer ST Tk =207 7o 27

(ersaTaret fororwor/arertarmme fasguor/fearem/=ie sigeer)

Loaders allocate memory to the programs and resolve symbolic references.
(True/False)

et st 1 A ST R § 3 e e A A w8 ()

Which type of memory allocation is done by compilers and not by interpreters?
(Dynamic allocation/Static allocation/Stack allocation/Heap allocation)

ToRE ST 2T T STeie Hehetehl ST ot ST @ 7 fof guferert gra?

(ferefier sTreiea/cdfer STTee/Tesh STTee/e 3TTEe)

The process of involves replacing macro instructions with the code
they represent.
(Macro/Macro Expansion/Macro Linking/Macro Loading)

=T sk o Ashl FETT sh 3ok GRT SITT 7T ki€ H SeeT wMHe 2l (Hshl/Ashl

ELSIVEEARKIE R EARSIIE))

Group (B) (g =)
Answer all five questions. (et af=r w=ii % 3® ) 4x5=20

List the components of system software.
foew Hivede & weehi i geft s
OR (sreram)
Differentiate between compiler and interpreter with examples.
JETEXVT TEd FHUTgeR 3T 2T o i S s
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Q.3

Q.4

Q.5

Q.6

Q7

Q.8

Q.9

Q.10

Write evolutionary steps of system software.
fereen diweat & forermaaTdt =wor ford)
OR (sream)
How does language processor work? Write its steps.
ST SIEER K8 1T AT 2. $9e =01 forfay)

How does macros call with macros in program? Write in brief.
T § BRI AshIST & T S shicT T ol Hag # fafey
OR (31eram)
Explain pass structure of assemblers.
SriTETerd i U GTEET TS|

Explain the model of a computer system.
I Tiwen & Aied T qUM

OR (sream)
Explain some functionalities of debugger.
e =t % iy FHEEy

Compare programming environment and integrated development environment
(IDE).
ST STATERYT ST Tehighd foehme aTararer (SMTEETs) st qoT il
OR (sreram)

Differentiate between linking loader and linkage loader.
feife STt o fofehst et o sffer ofat sram)

Group (C) (g - =)
Answer all five questions. (asft ufer weit &% 3w g |) 6x5=30

Explain various phases of compiler with their function.
T3 & = =X =67 3% #1 afed augmsy
OR (sreram)
Explain memory allocation in compilers.
FHuTged § AURY AT 1 THEEY
Write designing steps of linker and explain in detail.
ot o fesmefam =ror ford ot forear & g
OR (sreram)
Discuss various types of linking and loading schemes.
faferr yepme it feifd efie eifEm aemren w ==t +#i
Define macro instructions. Explain macro instruction arguments.
5h1 Tawit bt afeaTfa . AshT STIITT Rl AT AT H
OR (sreram)
Explain function code optimization with example.
B FIS ATMSATZAIN HT IS Gfed THEY
Explain how memory allocation impacts the performance of compilers.
T STTded ShUTSTRT & G T SRl JTId shiaT 87
OR (sreram)
Describe the elements of assembly language programming.
STTSTAT WTST SITFHT 3 eall ST i i
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Q.11 Evaluate the effectiveness of conditional macro expansion. 6 - 4
TN Heh! o shT STaRITeAdT T Fedria il
OR (sream)
Analyze the complexities involved in macro calls within macros. 6 - 4
RIS o ofiat Bkt hicd § It Stectarstt T farsgwor
(1618602)
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